Find the exact value for the following. Rationalize any radical denominator.

The answer to each problem will match a letter that will allow you to figure out the joke.
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1. tan 45°
S: 0O
. V3
2. cot ©O i C =
0: 1
3. cot 135°
I: undefined
4. tan 330° H: S
N: -1
5. tan 240° . V3
* 3
6. oot 360" P: V3
1
A: =
7. tan 540°
2 Y: -3
8. cot 1BO° . F: V3
‘ : D: -V?2
& o 7 7 %) 1 D 4 2 (%) 5

Specal Triangles - Finding Exact Values
D OOOOOOOCOOODOOAODICSIIDODOTOOOITOOOORGOOIOTOCOIOLOOOOITOODOOLIOIDOCOOOEOO0 OOOOO0O00

36

- e M M M A M A M A S S A SO e e s s & 4




